EmovdAnun otnv aoaipeon

1. Zouminpwos T uodnUATIKES TPOTACELS

# B =0 = seaven & o 3 5 3 ® B = e = 6
® 9-6=...... S - 5=2 e 9 — ... =0
o 4 -2 = S -4 =4 ® T = siem =35
o 7-3= ° - 6=3 e 6 — ........ = 1
e 8—-1= .iiuaun _f e —~1=4 & J = i = 3
$ 10— 5= . iiw ¥ s e - 6=2 I 1 [ — = 8

3¢ 2y 5 4, 3, 7
........ + s =y e venaomm T owizess = semuen
........ £z E = s e wemasy T s e T e

........................................

I | I | | | | | | | |
! I I I I | | | I | |
0 1 2 3 4 S 6 p 8 9 10
9 — 5= veener
I I I | | I | | | | |
! | I ! I I I I I I !
0 1 2 3 4 3 6 7 8 9 10

OIVOPIES ... vees sonvrsasrisspsossssmsassarvorsnsvonimwsss
TEEN: cceveven Huepopmvio: .ooveeeeeereeenee.



